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1.(50 x2=100) 0000 f(zx) 000,000 f(x) D000 (0O0O00O0D0O0).
(1) f(z) =2® — 3z + 1, (2) f(z) = log(z* + 1).

2.(0200) f(z,y) =2 —3zy—22000,000000 (20)00000000
0(40)0000000.000000000000000,00000000000
000000000000,000000000000000000

3.100) {a, )02, 0 0y =3,000 200000000, ) @0 1000000000
k=1

0000000000 .-0000(@000000).
4.(100) z=2y00 (1,—-1,-1)000000000000000(QO0O0O000).

5.(150)0<z <400, f(x) =2 —42 + 42> + 10 z = (1) oooooag
(2) 000,z = (3 000000 (4) 0o0. (1)-(4)0

000000000.00,(1),(3)00000,000000000000+x0000

0000.00000000,0000(0O000000).

6.200) f(z,y) =223 —62y—3y*0000000000.000,0(x,y) =(2,0)0
00000 140, (z,9) = (0,2)000000 10000, 00 (¢,9) 00000000
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7.200) 224+ 2y+42=300,y000000000000.0000000000
00000.000,000000000 (z,y)000000000000000. 00,
0000000000000 0000000000000000. 00000000
0o0000000000o0oooo.

EEN

gbooboooon
gobbobboooooobbo,bbodooobobobbbouooooo. bogo
(00)DOooooooooooooog.



